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12.

Instructions to Candidates ;\:

Read the following instructions carefully before you answer Lhe questions
Answers are to be written on a SEPARATE ANSWER SHEET.

Do not wrile anything except the district Code, Centre Code No. and Roll No.
on the answer sheet. Please see that no block is left unfilled District code Mo,
Cenfre Code No. and Roll No. are correcily transferred to the appropriaie
blocks on the question paper booklet and on the answer sheel,

For all practical purposes your Centre Code No. and Roll No. shall remain the
same as given in the Admission Ticket.

Casle and Sex code : Put a cross mark (X) for the caste and sex In the
appropriate Box, provided in the Answer Sheet. GM-1.SC-2. 8T- 3. 1A-4
2A-5.2B-6.3A-7.3B-8.

Put{X) markin appropriate box which shows medium ofinstruction.
Allquestions are compulsory. Each question carries one mark,

If you do not know the answer to any question do not spend much time on it.
The time allotted to this question paper is very limited. So pass on o the next
one. Iftime permits, you can come back to the questions which you have left
inthe firstinstance and try them again.

Rough work should be done only on the blank sheets provided. The same
have to be returned along with the Answer Sheet,

REMEMBER YOU HAVE TO CROSS (X) THE BOX WHICH YOU THINK AS
THE CORRECT ANSWER ON THE ANSWER SHEET PROVIDED. USE
ONLY BLUE OR BLACK BALL POINT PEN.

If by chance, you wani to change the proviously marked answer, you put two
lines {=) across that box as 2 and then cross the serial number box of the
other one which you think is correct. This corraction must be got atlested by
the Room Supervisor.

Put (X) mark in appropriate box on the Answer sheets which shows nature of
disability.

V-Visualimpairment, H - Hearing Impairment, P - Physicalimpairment.

Put {X)markin appropriate box which shows NTSE / NMMS.
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1. GENERAL MENTAL ABILITYTEST
mma’% PPN mabz;:;sr ﬁaci

(Questions 1-5)

Directions : The given questions are
based on letter series. In each questions
some letters are missing. The missing
letters are given in the proper sequence
in the choices given under each question.
Find the correct sequential alternative in
respect of each question.

1) aa—-b—-ccc—aa-bbc

) abcb
2) cbechb
3) bcba
4) bbab

2) pq-qr-rp-p-r

1) qrpgq
2) rqpp
3) rpqgq
49 prqp

3) bec-dcd -e—-ee-bce

) cddf
2) bdbf
3) ¢cbfb

4 fbef

(B3nsv 1 - 5)

BRWIN : B3 IINI @’%ﬁ@o B0 Beedodm),
3023, T,303P0T a;sgodo@modm FOI)
BFONP TBWORAZ. 8 PECIRATID
FONYRY B @0En BRTO, BSSROTD
T[IoD 378 Boednoss ey, Todrer abns @, 3
20000 88375, @aodeord TR pfeloninia
aﬂomroma;% 503, HUFTRHY, O GROWD.

4) 1-m - mmn — nno - o0pq

I) mnogq

2) ITmpo
3) mlpg
4) 1lmop

5 p-qpp -q — —q

) pgqpep
2) gpqp
3) gqqpp
49 pprqq



(Questions 6 -10)

Directions : In the given equations, which
of the following interchange of sign/signs
and numerals would make the equation

correct ?

6)

7)

8)

36+3+2=8x 4
1) 3and?2
2) 2and 4
3) 3and8
4y 4and3

8+2=6+3-5

1) +and -
2) =and +
3) +and +

4) + and -

24-8+2x7=4
1) +and -

2) =and +
3) —and +
4) —and =

(@%ﬁ%ﬁ -10)

BAURAW : FpITORN AD0eFTNTY  olREs
2353 [ 3R sy Boanivh wow wreeten
B3 ROEFTLNED FOIRNTIBS.

9 (1A0+6)x 4+2-42=12
1) 6and2

2) +and -
3) xand +

4) 4and 10

10) xénd+;4and6
) 54+-9x6 = 36
2) 32+8)-12 = 28
3) 48+8)+4 = 36

4) (48x12)+8 = 12



(Questions 11-15) (B3R 11-15)

Directions : Questions given below are Apuidnsd 1 31 S9R BREKHS TID 0Ty
based on number series. In each question one B essodorl SEORE. Haodron FerdohQode
number is missing. Identify the correct 20T ?::‘cwsgso:ba").gt 0T, B8cdpowd Catory

answer from among the given four BRI Y, esoi%ﬁ#e?ﬁ RoodRE V38 BoRd
alternatives under each questions HLATY MBS

and indicate.

1) 5, 5, 10, 30, 120,? 14) 6,7, 11, 20, 36,
1) 840 | o 1 65
2) 720 | 2 6l
| 3y 57
3) 600 ) ;
4y 54
4) 480

12) 22, 32, 52, 92, 172,? 15) 4, 5, 13, 40, 104,?

1) 332 1) 229
2) 282 2) 189
3y 252 3 169
4 242 4y 149

13) 3,4, 6,6, 12, 8, 24,2

NRE
2) 13
3) 12
4) 10



(Questions 16 - 17)

Directions : In the questions given a word
is written according to some code. In
each question a word is given and how
this can be written in the same code is
indicated by four choices. Select the
correct answer.

16) If LION canbe writtenasPM SR,
then BIRD should be written as :

1) XENZ
2) FMVH
3) ELUG
4) LEGU

17) If LION can be written as
N G Q L then PARROT can be

written as :

1) NYPPMR
2)  RCTTQV
3) NCPTMV
4) RYTPQR

(83016 -17 ) _
BRUSND 1 83 89NS JINY 2ot BRBI
AD0BEST LOTODE) 20B0HeRNT,. FE03R0mD
BEODOOIN 2,08 HERI, FRBONG 03
e.-aa’as’oq e FoTedT R ITert
WBORLIBTID aowda’oﬂ ooy, soine
DRYE S9AS. B3 BNV, FOIRT
VBT, Botd 2RO

16) LION®) womd =To¥eew ©,590
PMSR Qot woEs, et DSodedd
JFUBIRD 8 doerf 2wCooeozdord.

1) XENZ
2) FMVH
3)  ELUG
4 LEGU

17) LION 208 Xobe3t IFON G Q L
Q0T WIRT, e RModeIT 3tinle’
PARROTE\").zt &eR 2030DWBITO.

1) NYPPMR
2) RCTTQV
3) NCPTMV
4) RYTPQR



(Questions 18 - 20)

Directions : Questions below are based
upon codes given to aword ELECTRONICS
as 12134567839. Under each question a
word or a group of letters or numbers are
given. These are followed by four alternatives.
Read the questions carefully and find the
correct answer from among the choices

given.

18) Whatis the code for COSINE?

1) 658725
2y 457321
3) 369871
4y 987163

19) Which word stands for 946 5 1?

1) ONSET
2) LINER
3) RELIC
4y STORE

20) If AGENT is coded as 5 6347,
CANDLE is coded as 15489 3, then

("Bred 18 - 20)

BaEsngs ¢ B PN @Jaé%dad BIRVO,
ELECTRONICS o aﬂzﬁ% 12134567839
RoaT) Roge3ngny, TRUH. B,8030830
BZobOR, 20T WS ¢ET WI0 ©R@
Ross, RRRBRIRY, B8, T3odeomd TR
ey, FodRrolndd  aw. 3,8 0307,
b,0 ROCIRT VFTBR, BT BT TOTBR.

18) COSINE 288 godeasiesd?

1) 658725
2) 457321
3) 369871
4) 987163

19) 94651 3 IINT 3T TITI)

R Rui3 ?

1) ONSET
2) LINER
3) RELIC
4) STORE

20) AGENT & wom> Rode3w Z5d
56347, CANDLE & 154893,
Somy wwd, ede Jode3n JFo
GLANCE o toeit 2BOINITIT.

GLANCE can be written as :
1) 695314
2) 563894
3) 638459
4) 695413

1) 695314
2) 563894
3) 638459
4) 695413



(Questions 21 - 25)

Directions : In question given identify
the number of geometrical figures in the
given diagrams and find the correct
answer for each question and indicate.

21) How many Triangles are there in the
given figure?

1) 12
2) 11
3) 10
4) 9

22) How many Triangles are there in the
given figure?

1) 18 /\

2) 16
3) 14

4 12 \/

23) How many Squares are there in the
given figure?

1) 12
2) 11
3) 10
4) 9

(Z8nsb 21 - 25)
83 BYNTRS BBNYE, 3oL WITE Reed3
WWANIAD 330D Ros5,00, Bowd &BTD
TR, 1T

21) B 3 ENC  evy &7, 3000 aF),

bwne?
12
2) 11
3) 10
4) 9

22) B3R ERLIEOS 8 3030 o
RS 7 /\
1 18
2) 16
3) 14
4y 12 \ /

23) mwudass &7 30300 a&aw WINPT
aowcsaigl gor 30200 9

I} 12
2) 11
3) 10

4) 9




24) How many Parallelogram are there 24) &raai,d:d ¢33 gaodoe.'gq DR, HReT08Y
in the given figure? Woghrn R

T
- [

1) 10 1) 10
2) 9 2) 9
3) 8 3) 8
4) 7 4) 7
25) How many Semicircles are there in 25) swupow g 30300, SWy, OB
the given figure? wogﬁeags?
1) 28 1) 28
2) 24 2y 24
3) 20 3) 20
4) 16 4) 16



(Questions 26 - 30)

Directions : In the Questions given a series
of numbers have been given of which one
number is wrong. Find the wrong number in
each Question from amongst the four
alternatives given and indicate.

26) 20, 26, 34, 42, 56, 70
1) 34

2) 42
3) 56

4) 70

27) 4, 8, 9, 27, 36, 64
1) 4

2) 9
3) 27

4) 36

28) 44, 36, 28, 20, 12, 6
1) 6

2) 12
3) 20

4)y 28

(D326 - 30)
Reudd 1 81 3R doumE BaRvac

B3c3od = ejee'o’)od)@ 20T 'e"‘?.cﬁ
f-\.‘vOéD'> BB &3 3??3 Noélj CIRFYBod DM
e:sodar{@.fe‘.’) 50) ao@z:b ri)daé,u

29) 2,57, 11, 14, 17

5
2) 7
3) 11
4 14

30) 480, 96, 24, 8, 4, 2

1) 24
2) 8
3) 4
4 2



(Questions 31-35)

Directions : In the questions given there
is a question mark (?) in a blank space.
Under each question one of the four
alternatives given satisfies the
relationships between the two terms to the
left or to the right of the sign : : given in
the question. Find the correct answer for
each question.

31) 15:65:: 7:217
1) 30
2) 35
3) 130
4y 222

32) 66:144::
1) 204
3) 289
2y 234
4) 324

33) MLKJ:NOPQ::DCBA:?
) ZXYW
2> QPON
3) ZYXW
H WXYZ

(B30 31-35)
Souddnies : B BONT TIRYY, H30%0Rd

TPt 200030 @’a:gtc;ﬁré w3 (7) oVOT
RRuaton o WndB. woiR BIH 3
BeLos ey, Todnrobry 38 2,003 B
& gédodaz ;808 adﬁ R WOl DN
SRS Boroges), T BREL. B303ROTH
BIrie VBTN, 30730 BT RITHEA.

34) EGHF:JLMK:: 2:UWXYV
1) PQRS
2) PRSQ
3) SRQP
4 RSTU

35) 2CD:5FG:: ?2:11LM
D 717
2) 8JK
3) 7HI

4) 8117



(Questions 36 - 37)

Directions : The Question given are
based on the diagrams given below. Each
circle represents one item irrespective of
the size. Match the figure with items in
the questions on the basis of their
relationship. Identify the correct answer.

(B3R 36 - 37)

RS Bdned iR FRLI0R &8 BT
SBO0RE, F3o3Rord & d@’p €3z odn@de
nog, a’@ddfa 20T eoss:’am maaﬁméd
eﬁaﬁr{#@d wwdﬁeﬁ& &3 én‘v‘@ﬁ eosn'@ﬁ
TRoD/ ROOINT emgdd@t rbtbaa;

O 69 ©
@1@..

D

36) Professionals, Engineers,
Lawyers '
=, 338, oweRodthnsh, Seeeny

1)
2)
3)
4)

mmw O

37) Sports fans, Tennis fans, Hockey
fans, Cricket fans
SUNYY NBOFTIWIT, wq{mw

™

wg_ycadddo, TE0RY ems.lscaddda,

867 RS RO,
D A
2 D
3) E
4 F

12



(Questions 38 - 40)

Study the inﬁei‘secting Geometrical -

figures and what group they
represent. Then answer the questions
given below by indicating the correct
choice.

 (pee: 38-40)
- Reeddnsh:

gntypom FeHROT NI,
s arie =os 3 AALiRR ooV
Soeds. @ FENTOS BIRY GoZ TBI

wh o ] L8
TodRr oHRPoT WO,

Al

JAN

Represents Males

—>
—>
—>

Represents Educated

o —
38) Uneducated unemployed male
citizens of Bangalore

eamﬂaﬁoz adazi’.mﬁcﬁ Wond»RoT

Represents Unemployed

RTICOH TONOEBD

Hn9 2y 7 3 8 4)6
39) Educated Unemployed Male citizens

of Bangalore

&)m,sas’oa# adocmdeﬁ Jondnds

oBReod ToRoOeITd

1) 3

2) 7

3) 4

4) 6

13

Represents Citizens of Bangalore 23onspd=O00sm Sondsos) RRUERZE,

SHERECHOR, APURIS.
T, RoBeRy BouiRoga,
RETR,ARYR) RAUWEETS

40) Uneducated Unemployed Female

citizens

BT .adoci’.:asewﬁ@ oD
TONOBTO ‘
1)
2)
3)
4)

L CO =1 O



(Questions 41- 45) .

Directions : In each of the questions the
numbers given in each row follow some
rule. Select the correct number which is
missing from amongst the four
alternatives given under each question and
indicate.

41) 18 27 175
41 60 19
45 40 ?

1) 30
2) 35
3) 40
4 42

42) 91 64 73
64 76 61
45 60 ?

1) 78

2) 76

3) 66

4 62
43) 9 50 5

6 53 8

7 7 6

1) 47

2) 49

3) 51

4 56

14

(SB3nsh 41- 45)

Baw3Sned ¢ g3 90 weﬁr{@;?@ T303p0D
BN Bpedrhas ruoaj ri%b &,oc:b ».mra'g’a’sb
edoowqd e ﬁuagd g@d Sl SWURIXS)
TBReNHT ~oa3063§3 cﬁé&fo %faiﬁ ﬁmsdoaﬁ
T, woci)arcrb Noajm?od wcﬁo a’m@
ﬁJdJéRJ

4) 4 1 25

9 4 36
16 9 49
25 16 9
) 64
2) 81
3) 100
4) 144

45) 5 6 7
4 5 9
3 4 5
60 120 140
) 7
2) 6
3) 5
4) 4



(Questions 46 - 50)

Directions : In the Questions given, there
are four groups of numbers / pairs of
numbers / groups of letters. Three of them
are alike in some way, while one of them
is different. indicate the correct answer,
by finding the one which is different.

46) 1) 111
2) 121
3) 131
4) 141

47) 1) 48, 8

2 102, 10
3 120, 12
4) 168, 14

48 1 7, 91

2) 9, 108
3) 13, 117
4 15, 125
49) 1) BD H N
2 AD I P
3) CE 1 O
4 DF J P
5) ) XV S O
) VT Q M
3) SQ N J
4 MJ G D

15

(Bnsv46 - 50)

DAWRND: B NS @éﬁ@e‘;ﬁ Bodeowm
Sdowe Ross, | wne mosdne [ egone ToY,
rOoRNPS. ayne s @), wowd
DeBOD AT BeoNes, Lot Sng zpaimhd.
B3 YENTITI), 0t &R TOTHER.



Questions : (51 - 55)

Directions : Read the following questions
carefully and find the correct answer to
each question.

31)

52)

33)

If Independence Day in 2009 is
on a saturday, 15" of June on the

same year falls on which day?

1) Sunday
2) Monday
3) Friday
4) Saturday

If all the members from 1 to 100

are written, how many times ‘7’
will occur?

1) 18

2) 19
3 20
4 21

A man was 25 years when his son
was born and two years later a
daughter was born. When the
men celebrate his 60" year
birthday, what is the age of his
daughter?

27
2) 33
3) 35
4 37

16

(BBns51-55)

2HWIND ¢ T3 F9R BREPOT @%ﬁ#eﬂg{

ﬁdoﬁa% &0, B3odromd ggm ROOIRT

w_a:dafdgt PO &BICWO.

51) 200930k IIFRY, PO, OTRY)
BRECTES, Bt IFr@ e’ 1550
20e80 05w admnda§d?

1) s
2)  Rnemboed
3) =gwd
4) o

52) 1 ot 100 SRSR Roagneny wdmon
Ross, 7' QD Wod WTHITH ?

1) 18
2) 19
3) 20
4) 21

53) Wy, TOMAFT [y wEY =on
aaé,.‘i;:mﬁ 25 wﬁ?ﬁ%ndagd aﬁazsa_p
OB =R Fodd e=an mHnd
Rorgpad. & brba 33 6080 SHen
aa‘aaaou a‘wuda’oq SWOATIN, Tony

o ?
) 27
2) 33
3) 35

49 37



54)

55)

Anil was facing South, he turns
right and walks 20m. Then he
turns to right again and walks
10m. Afterwards he again turns
to right and walks 60m. In which
direction he is from the starting

point?

1) North

2) North west
3} North East
4) East

In a village 80 families have
radios, 120 families have
T.V. sets, 50 have both, 110
families have either T.V or
Radio. How many families are
there in the village?

1y 350
2) 260
3 230
4y 200

54)

- 55)

17

SROR WL, QTN Vo3
= wog 34N 20 owe Sdedozs.
o020 D PR uo% 3oon 10 Qo
BRI T. 3z5edd, woﬁ} 300N
60 ooc WO, BN LI BRCH
Bt oI BERQ, o3t ?

1) 033

2) o0d0e,
3) B1wo%,
4) Caotat

2O BY,00Y, 80 owvowndd
Jercdne [IR, 120 Fotdoronted
83.2.79, 50 Domdndh TR,
BHoDTIT F. 110 #otvownsd
Seodnt LFie 8.Q. r{eéa‘:gl BRODT.
TomenT o a’%aﬂaomc’oa’ 20833,
Sorwowny Boad, A

) 350
2y 260
3 230
4) 200



(Questions 56 - 65)

Directions : In Questions given the
numbers in the figures are related. Identify
the relationship that exists among the
numbers in the figure from the given

choices under each.

37)

1)
2)
3)
4)

1)
2)
3)
4)

80
72

(B 56 - 65)

RRUSR 1 & I9NS JINVE, BIRUOS
&3 AnNYO Do RO NGd 20w ROFE
Rowogisy ®eodr. T3okeomd FIADOS
RO NPATI z:’omocp’as’zo‘oﬂt TR0
BosrF oD Fomd HRT RO,

>
£

15
12
10

11

10 18 ? {12

58)

1)
2)
3)
4)

— A N =]

18




91 A]|12
59)
B|10}| 7
81 C|11
1) 9, 13, 11
2) 8, 12, 10
3) 14, 8, 8
4) 8, 13, 7
V 24 V 29
VK ®
42 33 30 63
1) 28
2) 26
3) 24

4) 22



Questions (61 - 65 ) ,
Directions : According to a code language

the words in capital letters in column I are -

rewritten in small letters in column II. The
codes in column II do not appear in the same
order as the letters in the word in column I,
the codes for each are jumbled within. Find
the code for each word from among the
choices given under each word.

Column -1 Column - 11
Rogs-1 Fog3 - 1
PLAN tqwx
TAPE xgdw
QUOTE fgdsi
COURT pgjif
61) RUN

1) txXw

2y fis

3) pit

4 pxg
62) QUE

1) dfg

2) sid

3) xds

4) twx

20

(Q%”*‘b 61 - 65) |
Beudnd : 83 NS BINGY, Te3rish 2,000
7008 wodln | eodrdesmen  wIoHeRAT.
Hogs I8 &t BINIR), Bt NP, @onn
Rogd 11 3 3 w8, POV deBEoeNG,

w38 Ford 11 89T Rodedrish Fowd SO
SEONIT IRTDRENOE BB BN,
#3o3omd g’azo:b@i}g 5'363% R00Fe3T LIoTOD
VOB, RLItHE TLY, BAIRF oINPT
Cowonpl)

63) POT
1y tif
2) xfg
3) psgx
4) g£Xq
64) ROUTE
1) pgidg
2) figdp
3) jipdg
4) pfigd
65) CATER
) jwgdp
2) sifg;
3 pgid]
4) pfigd



(Questions 66 - 70)
Directions : In questions given part of the
figure is missing. Identify the missing part

from among the four choices given under

each Question.
66
?
1
67
CI ?
»
»
1
68

21

(BBnd 66 - 70) |

DU 1 81 NS JIPY, 58, 30D 20D
R eTRFINE. ST, F3odeomd FFod
Bt Botiha e WosRFoRPor DGO




T

=TT

Jr x e R



Questions (71 - 75)

Directions : The questions given consist of
series of figures which are incomplete. In
order to complete the series, select the
correct figure from the given choices.

71

AAA%SQ%‘AA

BB (71 - 75)

BRWSN :  ERUTOD ajz'é;r\’e.ﬁe‘)m &8 8N
%es‘éoﬁaa’g{ BRBOONG. [ Forer Feedode,
o3 —wjei_fiod)eﬁm @eeéobsd% RPEAF NRTID
BRL3TH Ty, Todor 0P, ROCIRTR,
508 Rk

P

CAA

ANV

LD LR R AR

23




2

<
M~

24



(Questions 76 - 78) (g%ﬁ%’o 76 -78)

Directions : In the following questions 2  gpwSnsh : 83 3R &az%cbd @%ﬁ@q 2,003

problem figure is given. The problem figure @*%ﬁgﬁg% 8rbys. 33 @J?Dq 235, WodF o

is hidden in one of the figures given as 237N SRR 2,08 BITE SBNG. adEs
(5] ™

alternatives. Find the figure in which the  33p-03 5356, eEN gy dod
problem figure is hidden. D, e ]

o~ BDHDD

77

78

25



Questions (79 - 80)

Directions : In the following questions two
figures are given as problem figures. Which
of the following alternative figures would be
formed if the first figure is superimposed on
the second figure ?

BBrisd (79 - 80)

BRWI[ND : &8 IR 0D WIS, B,
wgnvon dnuE. 81 WInYY, Becodond
W), TR0 wZE Woeed, oo QR
EAUTOE wWodnrobndd R WIR)
Cu3ROBPES

80

26



Questions (81 - 83)

Directions : In the questions there is some
relationship between the first two figures.
The same relationship holds good for the
second set of figures of which one is missing.
This missing figure is given as one of the four

alternatives. Find the correct answer.

81

AlFlel<c|my) **
S|IBlejnn|Tm| * °
O| X al Py
N |- N |
1 2
82 4

L ]
) ®

/f
rd
7
4

1 2
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Zpiso (81 - 83) o
BRWEINS 1 ¥R é.taz%dod ©,803R0%0
YIoOw FABOS 0m0 B Iner
ROWORRT. B¢ RPN wTBSe WNFTS
QOB &8 N, zooddqa BRLTIROY;
TF3odeomd FFob IR ERLCHT T
BodrRF AP, FOIRTHTI), BodTRE.
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Questions (84 - 85) BBnish (84 - 85)

Directions : In each of the questions there ~ RRuSnb: 81 39S FIW FeodrpomtQode
are four figures. Among these three are alike o), &8 89, aYny B3 S 2.0
in some way, while one is different. Findthe e300 R Bennd. SO0 2000 &RE,

figure which is different. mpaimncs. & PITNDRTDY, TR
BOW0.
84 ; "
S | 2 3 4 .
85
N LY
1 2 3 4
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(Questions 86 - 88) T (3Ese-ss) |

'  here ARUBNE © $RUCHT TBNYY, Jeasnd
STHPRCODR B3nY BIFee [dwonvR)
lines and their mirror images are giveninone ~ XOWNEE, 3RTORNT. 83 SEPNEQR

of the four figures to the right of these lines. TIUBT ROWNRT TTEH  H30WRDY
Find the exact mirror image of each figure. B108300e3 S03TIVOT F0mERROND.

Directions : In the questions given there are
figures to the left of the mirror indicated by

86

APT7TJZQ

TEERRETEEEERRRRRRSSN

Vb.1SO0 VbMA1ZO V9L130 Vbl1S0

1 2 3 4
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Questions (89 - 90)

Directions : The dotted lines on the figures
indicate how the paper is folded and the
shaded part on the figure indicates the where
the paper is cut. How will it look like when
the paper is unfolded ?

(33rsb89 - 90)

Aaudnd: Hyod Boews RrukdE
2,08 THPODRY, FoRRT DEBOHI, 033 T,
IREDT POy TZONT LNBIR, ROURIT,
B TYODE) HRY, IHYIREWLD PRTY,
08T 03T TPODRY, WRKTN BRI
BOdRFODNSS 03 €33,3030 BeIRORBI ?
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